< 00, > (M)

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

......

..................

..................

...............

...............

..............

|
...............

0 1 2

3

TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

o
i

...................

...................

.........................

..........................

0.95!

0 1 2
TP n (PCA to beamline

—=#— DQM_CKF_XiMinusNOPU_base
—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochO

100r

A o ©
o O O
[TTTTTee

20

.................

.................

.................

LA eeeees RRPPPS e

| PR Feeees i

| \ .
i e,

i :
iE] [ A
i [

k N
iy F . .
L 211550 H & S s
P 1 Y Y Y N PRI O R I
A 1 0 [
4 P A R .

-1

0 1 2
TP n (PCA to beamline

3
)

.............

.............

.............

...............

...............

...............

0.9

0.g!

-1

0 1 2

3

TP n (PCA- to beamline)

3
)

100

—~

..............
.............. L(2]

..............

..............

...............

...............

...............

0 1 2
TP n (PCA to beamline

3
)



	Contents
	Page 1


